Indiana State University Sycamore Scholars

All-Inclusive List of Electronic Theses and Dissertations

1949

# A comparison of rural and city students at Indiana State Teachers College

Emory Dixon Indiana State University

Follow this and additional works at: https://scholars.indianastate.edu/etds

#### **Recommended Citation**

Dixon, Emory, "A comparison of rural and city students at Indiana State Teachers College" (1949). *All-Inclusive List of Electronic Theses and Dissertations*. 2831. https://scholars.indianastate.edu/etds/2831

This Thesis is brought to you for free and open access by Sycamore Scholars. It has been accepted for inclusion in All-Inclusive List of Electronic Theses and Dissertations by an authorized administrator of Sycamore Scholars. For more information, please contact dana.swinford@indstate.edu.

# A COMPARISON OF RURAL AND CITY STUDENTS AT INDIANA STATE TRACHERS COLLEGE

- 1 Thesis

Presented to

the Faculty of the Department of Education

Indiana. State Teachers College

In Partial Fulfillment

of the Requirements for the Degree

Master of Science

by Emory Dixon October 1949 The thesis of <u>Emory Dixon</u> Contribution of the Graduate School, Indiana State Teachers College, Number <u>672</u>, under the title <u>A COMPARISON OF</u> RURAL AND CITY STUDENTS AT INDIANA STATE TEACHERS COLLEGE

Committee on thesis:

Charles Hardaway ang E Elder Margaret Lindsey, Chairman

Representative of English Department:

· 推动的 · 建设 · 经上述 · 经公司

Group to Smorte Date of Acceptance May 15, 1950

# TABLE OF CONTENTS

CHAPTE	ER					Ρ.	AGE
I.	THE	PROBLEM AND DEFINITION OF TERMS USED	•	•	•	<b>9</b> -	l
		The problem	•	•	•		1
		Statement of the problem	•	٠	•	•	1
		Importance of the study	•	•	•	9	1
		Definitions of terms used	•	•	٠	•	2
		Scholarship index	ð	•	υ	3	2
		Rural students	•	•	•	•	3
		City students	•	•	•	٠	3
		Organization of remainder of the thesi	S	•	•	•	3
		Limitations of the study	•	•	•	•	3
II.	THE	MATERIALS AND METHODS USED	•	•	٠	٠	5
		Classification of groups	•	٠	•	•	6
		Scholarship index	•	•	•	•	6
		Extra-curricular membership	•	•	•	•	6
III.	STAT	FISTICAL TREATMENT OF DATA	•	٠	•	8	8
		Scholarship index		•	9	9	8
		First term index	٠	•	•	•	8
		First year index	•	e	•	•	11
		Second year index	•	•	•	•	11
	*	Third year index	•	•	•	•	14
	e geli Service Service	Psychological scores	•	•	•	•	17
IV.	МЕМІ	BERSHIP IN EXTRA-CURRICULAR ORGANIZATIO	NS		e .	•	23
		Social organizations	¥ .	•	•	•	23

CHAPTER		- 	<u>.</u>						•	,	Ρ	AGE
	Departmental organizat:	ions	•	•	•	•	•.	٠	•		•	24
	Honorary organizations	• •	•	•	•	•** .	•	•	0	¢	•	24
	Service organizations	• •	•	•.	•	•	•	•	•	ø	•	25
· · · · · · · · · · · · · · · · · · ·	Other organizations .	• •	•	,•	• :	•		•	ŧ	٠	•	25
	Class officer position	s.	<b>+</b> ,	ŋ		ð	v	9	÷	9	ş	26
V. SUI	MMARY AND CONCLUSIONS	• •	•	٠	•	•	•	•	٠	•	•	27
	Summary	• •	•	•	•	•	•	•	•	•	•	27
	Scholastic standing .	• •	•	•	•	٠	•	•	•	•	•	27
	Psychological scores .	• 8	•,	•		•	٠	•	•	•	•	27
	Extra-curricular member	rshi	р	•	٠	•	•	•	•	e	•	27
: · · ·	Withdrawals	• •	•	•	•	•	•	•	٠	•	٠	28
	Conclusions		_		· .		_					28

in the first of the second second

# LIST OF TABLES

TABLE		PAGE
· · · · · ·	Distribution of Scholarship Indices of Rural	
	Students at the End of the First Quarter	. 9
II.	Distribution of Scholarship Indices of City	
energia de La constanta de La constanta de	Students at the End of the First Quarter	. 10
III.	Distribution of Scholarship Indices of Rural	
	Students at the End of the First Year $\ldots$ .	. 12
IV.	Distribution of Scholarship Indices of City	÷
	Students at the End of the First Year	. 13
$\nabla_{\mathbf{r}}$	Distribution of Scholarship Indices of Rural	
	Students at the End of the Second Year	. 15
VI.	Distribution of Scholarship Indices of City	
	Students at the End of the Second Year	. 16
VII.	Distribution of Scholarship Indices of Rural	
	Students at the End of the Third Year	. 18
VIII.	Distribution of Scholarship Indices of City	
*	Students at the End of the Third Year	. 19
IX.	Distribution of Psychological Scores of Rural	
	Students upon Entrance into College	. 20
Χ.	Distribution of Psychological Scores of City	
	Students upon Entrance into College	. 21
XI.	Scholarship Indices and Psychological Scores	
	of Rural and City Students	. 22

#### LIST OF TABLES

TABLE		PAGE
XII.	Number of Students Successfully Completing	
: 	the Freshman, Sophomore, and Junior Years	
	of College	22
XIII.	Student Membership in Extra-Curricular	
	Activities	26

<mark>tens te national de la proposición de la constance por servicio de</mark>

Rand Randa (1999) and the state of the second s

and present and the set of the set

And the second second

 $\mathbb{R}_{2}$ 

Ť

10

#### CHAPTER I

THE PROBLEM AND DEFINITION OF TERMS USED

It is generally accepted that environment is a contributing factor toward the development of individuals and their patterns of behavior. For years this has been the subject of many research activities.

#### I. THE PROBLEM

Statement of the problem. It was the purpose of this study to make a comparison of students having a rural background with those having an urban background in an effort to determine which group was more successful in college. Success in college was determined by a comparison of (1) scholastic achievement, (2) membership in extra-curricular organizations, and (3) membership in honorary organizations.

<u>Importance of the study</u>. Some authorities believe that a rural environment provides a better background for the development of individuals. It is generally accepted that the aim of all education is to provide for the development of individuals so that each may take his place in a democratic society and intelligently assume the responsibilities of a good citizen. If environment is a fundamental factor in the development of the individual, then it is of the utmost importance that the better environment be provided. It is hoped that this study will aid in determining which environment is the better.

#### II. DEFINITIONS OF TERMS USED

<u>Success</u>. Success in college as referred to in this study was determined by (1) scholastic achievement, (2) membership in extra-curricular organizations, and (3) membership in honorary organizations.

Scholarship index. Throughout the report of this investigation, the term "scholarship index" shall be interpreted as a plan at Indiana State Teachers College for the measurement of scholastic standing. Under the plan a number of points are given for each letter grade received. For each "A", four points are given; for each "B", three points; for each "C", two points; and for each "D", one point. The. scholarship index is obtained by dividing the total number of points by the total number of quarter hours attempted. The scholarship index is cumulative for the duration of the student's attendance at the institution.

on the second second to be a second se

<u>Rural students</u>. Throughout this study the term "rural students" pertains to those people who, prior to their entrance into college, lived in a community of not more than one thousand population. In some instances, it is probable that some students attended city schools.

<u>City students</u>. The term "city students" pertains to those people who, prior to their entrance into college, lived in a community of more than one thousand population.

Organization of remainder of the thesis. The remainder of this thesis is divided into four parts. Chapter II discusses the materials and methods used, Chapter III covers the statistical treatment of scholastic achievement, Chapter IV deals with the statistical treatment of extra-curricular membership, and Chapter V is the summary and conclusions.

Limitations of the study. This study started with the class beginning in the fall of 1946 at Indiana State Teachers College and covered the period from 1946 through 1949. It was not possible to carry the groups through the entire fouryear period since students starting in the fall of 1946 would not have been expected to graduate until 1950.

The cases were restricted to resident students in order to measure extra-curricular membership.

Since no attempt was made to compare the size of high school from which the students graduated, it is possible that many of the rural students did attend high schools as large or larger than those attended by some of the city students. The groups were selected at random. No attempt was made to establish equivalent groups. The size of the groups is assumed to be sufficient for adequacy and to take care of significant differences.

1.44

:44

l an Air

)) 영상

100

ido'

(0)

233

6M

169

iri(

An extensive search was made in an effort to locate pertinent literature regarding related studies. No information of this type was available.

One appreciate the second states and second states and

grade the the grade which a state of the state

SERVICE (II) CONT

的是在在的时候,这些主要的时代的。

**美国新闻 医结试的 白云 出一点** 化乙二

ARE SERVICE PROVIDE THE REPORT OF

though the offers and the second second second

When said the most of the first of the second

### CHAPTER II

#### THE MATERIALS AND METHODS USED

The data used for this study were obtained from the Personnel Office and the Registrar's Office of Indiana State Teachers College.

Since the purpose of this study was to compare the accomplishments of rural and city groups, it was necessary first to select a particular class and then to obtain the necessary data pertaining to this class. The class beginning in the fall of 1946 was selected for the following reasons: (1) to be of any value the study had to be recent, (2) a study of a class of the period 1941 through 1945 would not have given a true picture because of the war, (3) although the class beginning in 1946 could not be studied through the entire four-year period, it, at least, represented the most typical group available.

One hundred resident students of each group were selected at random. The study was restricted to resident students to exclude those students who might commute, and those who were natives of Terre Haute. It is possible that those who commuted would not have the time nor opportunity to participate in extra-curricular activities. It is also possible that the native students of Terre Haute might have the advantage over others, because of their previous contact with students from their own and other high schools in the city.

No attempt was made to match the groups in any way other than mentioned above. Neither was there any attempt to compare high schools from which the students graduated.

<u>Classification of groups</u>. The classification of groups into rural students with rural backgrounds, and city students with urban backgrounds was determined by the address given on the registration card.

<u>Scholarship index</u>. The scholarship index for each student was obtained for the following periods: (1) end of the first term, (2) end of the first year, (3) end of the second year, (4) end of the third year, and if possible, (5) end of the fourth year.

Extra-curricular membership. Data on extra-curricular membership were obtained from the records available in the Personnel Office. Memberships were divided into six types: (1) social organizations, (2) departmental organizations, (3) honorary organizations, (4) service organizations, (5) other extra-curricular activities, and (6) class officer positions.

Information was not available in the Personnel Office for each case studied. Data were available for sixty-seven of the rural cases and fifty-seven of the city cases. The data on extra-curricular activities were not restricted to any certain class year, but were a cumulative record of membership.

医紫癜病学 计数据分词 计分子

Śġ.

: di

ađ.

an Chi

 $\langle \langle t \rangle$ 

546

ある情報を行わった ひょうせい したしょう

and the second second

建筑 的复数 网络斯特里尔特美国西北部北部美国大学的中国

general and and the second states and the second

and many built, and an international and farmer as a con-

# CHAPTER III

STATISTICAL TREATMENT OF DATA

I. SCHOLARSHIP INDEX

<u>First-term index</u>. The first step in the analysis of the data was to obtain the scholarship index of each student for the first term. A comparison of the two groups resulted in the following findings.

The mean index of the rural students derived from group data was 51.2. The standard deviation of the same group was 19.30. See Table I.

As shown in Table II, the mean index of the city students derived from group data was 53.3. The standard deviation of the same group was 17.45.

The results of this analysis of data indicate that the city students were slightly higher in scholastic standing at the end of the first term.

In the above analysis, one hundred cases of each group were used. This was the first term and none of the students had, as yet, dropped out of school.

Hours in fills

### TABLE I

# DISTRIBUTION OF SCHOLARSHIP INDICES OF RURAL STUDENTS AT THE END OF THE FIRST QUARTER

erval	freq.	dev.	fd.	fd <sup>2</sup>
-100	· 0	0	0	0
95	0	0	0	0
90	3	8	24	212
85	1	7	7	49
80	~* ?	6	12	72
75	9	5	45	225
70	9	4	36	144
65	9	3	27	81
60	12	2	24	48
55	1	1	1	1
50	23	0	0	O
45	10	-1	-10	10
40	8	-2	-16	32
35	4	-3	-12	36
	0	-4	-0	0
25	0	-5	-0	0
20	2	-6	-12	72
15	0	-7	-0	° 0
10	1	-8	-8	64
5	6	-9	-54	486

Mean-----51.2 Stan. Dev. -----19.3

### TABLE II

# DISTRIBUTION OF SCHOLARSHIP INDICES OF CITY STUDENTS AT THE END OF THE FIRST QUARTER

Interval	freq.	dev.	fd.	fd <sup>2</sup>
96-100	· l	9	. 9	81
9195		8	· 0	0
3.86 <mark>9</mark> 0 אמים באייראיי	• <b>O</b> r • .	7	0	0
8185	5	6	30	180
7680	1	5	5	25
7175	8	4	32	128
66 <u>-</u> 70	6	3	18	54
6165	16	2	32	64
5660	10	. 1	10	10
5 <b>51<u>∽</u>−55</b> 0 000 0000	16	• • • • •	0	0
4650	2	-1	-2	2
4145	16	-2	-32	64
3640	). 19. se 20 <b>4</b> 19. se	-3	-12	36
≈3135 the right is	1999 - 1997 - 1997 1999 - 1997 - 19 <b>5</b> 6 - 1997 - 1997	-4	-20	80
	un (n. 1997) - <b>O</b> tan Brasilina an	-5	<b>-0</b>	0
• <b>2125</b> nd actor (p. 44.1)	1949 - <b>4</b> 18 - 1949	-6	-24	144
- <b>1620</b>	nationale Netropoli <mark>l</mark> e protient	-7	- <b>7</b>	49
11-15 w s roduct.	2	-8	-16	128
610	0	-9	-0	0
05	8	-10	01 100 8684) 	300
	100 -	방상: 최고한 동네이 있다. 		1345

Stan. Dev. ----17.45

Ţ

֧

See the start of the start

<u>First year index</u>. The next step in the statistical treatment of the data was to determine the scholastic standing of students in each group after completion of the freshman year.

5.01

- e.,

- 4

 $\sim$ 

1

1.1

 $\left( \uparrow \right)$ 

11

. di

<u>j</u>p

941 1730 -

. [

Ŕ

10

j.

1

Ĵ

(3<sup>50</sup> 1) Gerral G

It was found that the mean index of the rural group after completion of the first year was 55.8. The standard deviation of this group was 14.90. See Table III.

As indicated in Table IV, the mean index of the city group at the end of the freshman year was 53.7. The standard deviation of the city group was 14.10.

The results of this analysis of data indicate that the rural students were slightly higher in scholastic standing after completion of the freshman year.

A comparison of the number of students who completed the first year was made. As shown in Table XII, 82 per cent of the rural students completed the first year, while 88 per cent of the city students completed the first year. The results of this comparison indicate that a higher number of city students completed their freshman year of college. No effort was made to determine the cause or causes of drop-outs among the students.

<u>Second year index</u>. The next step in the statistical treatment of the data was to determine the scholastic stand-

# TABLE III

DISTRIBUTION OF SCHOLARSHIP INDICES OF RURAL STUDENTS AT THE END OF THE FIRST YEAR

Mean----55.8

1

d a

영환

n f

公司 行的

Stan. Dev. -----14.90

TABLE IV

${\rm Mir}_{\rm sc}^{\rm c} = {\rm C}_{\rm sc}^{\rm c}$	DISTRIBUTION	OF	SCHOLAI	RSHIP	INDICES	OF CI	TY
1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	STUDENTS	AT TA	HE END	OF TH	HE FIRST	YEAR	

Interval	freq.	dev.	fd.	fd <sup>2</sup>
96-100	0	9	0	0
9195	1	8	8	64
8690	0	7	0	0
8185	3	6	18	108
7680	2010	5 <b>5</b>	10	50
7175	4	4	16	64
6670	10	3	30	90
6165	₫. • <b>4</b>	2 ···	8	16
5660	14	1 · · ·	14	14
5155 <sup>44-216</sup> 09-21-1198	14	<b>Ö</b> ringen	0	0
4650	14	-1	-14	14
4145	8	-2	-16	32
3640	6 - 10 - 10 - 10 - 10 - 10 - 10 - 10 - 1	-3	-18	54
nalastancata bar	3	-4	-12	48
2630 <sup>77</sup>	<u>4</u>	-5	-20	100
2125	0	* - 6 - 6	0.	0
1620		- <b>7</b>	-7	49
1115	0	-8	0	0.
610	0	-9 	0	0
05	0	-10	<u> </u>	0
	88		14	703

Mean-----53.7 Stan. Dev. ----14.10 ing of students in each group after completion of the second year.

There was very little difference between the two groups regarding scholastic standing. As would normally be expected, both groups showed an improvement over the first year index.

The mean index of the rural group as shown in Table V, was 59.1. The standard deviation for this group was 14.45.

As shown in Table VI, the mean index of the city students was slightly higher. Their index being 60.0. The standard deviation of this group was 13.75.

As can be seen in Table XII, fifty-nine of the original group of one hundred rural students completed the sophomore year. Of the one hundred city students, fiftyseven completed the sophomore year. In this respect, the rural students had a higher percentage than the city students. The results of these findings are hardly significant since there was very little difference between the two groups.

Third year index. The final step in determining the scholastic achievement of each group was a comparison of both groups at the end of the third year.

As can be seen in Table VII, the mean index of the

### TABLE V

Interval	freq.	dev.	fd.	fd <sup>2</sup>
96-100	0	9	0	0
9195	0	8	0	0
8690	0	7	- <b>O</b>	0
8185	3	6	18	108
7680	4	- 5	20	100
7175	7	4	28	112
6670	8	3	24	72
6165	7	2	14	28
5660	5	1	5	5
5155	12	0	0	0
4650	3	-1	-3	3
4145	4	-2	-8	16
3640	3	-3	-9	27
3135	2	-4	-8	32
2630	0	-5	0	0
2125	0	-6	0	0
1620	0	-7	0	0
1115	0	-8	0	0
610	1	<u>.</u> 	-9	81
05	0	-10	0	<u> </u>

DISTRIBUTION OF SCHOLARSHIP INDICES OF RURAL STUDENTS AT THE END OF THE SECOND YEAR

Mean-----59.1 Stan. Dev. -----14.45

 $\tilde{f}_{jj}$ 

្រូន

n¶o

15 ,

# TABLE VI

DISTRIBUTION OF SCHOLARSHIP INDICES OF CITY STUDENTS AT THE END OF THE SECOND YEAR

Interval	freq.	dev.	fd.	fd <sup>2</sup>
96-100	0	8	0	0
9195	0	7	0	0
8690	3	6	18	108
8185	3	5	15	75
7680	× 2	4	8	32
7175	4	· 3	12	36
6670	6	2	12	24
6165	9	1	9	9
5660	8	0	0	0
5155 · · · · · ·	9	<b>→1</b>	-9	9
4650	4	-2	-8	16
41-45	4	-3	-12	36
3640	3	-4	-12	48
19 <b>31-132</b> haster ist south	2	-5	-10	50
26 <u>30</u> A.s. 6 1010 (16. 1997)	e <b>O</b> ne en	-6	0	0
2125	1. <b>0</b>	na , est el <b>−7</b> ≉	0	. 0
1620		- <b>8</b>		0
1115		9	ет — сала сторой <b>О</b> реди. С	0
610	0	-10	0	0
05	0 57	-10	23	0
Mean60.0				

Stan. Dev. ----13.75

22665

rural group was 64.7. The standard deviation was 10.90.

As shown in Table VIII, the mean index of the city group was 63.0. The standard deviation was 10.50.

Of the original one hundred rural students, forty completed the junior year. Of the original one hundred city students, thirty-five completed the junior year. See Table XII.

The index of the rural group was slightly higher than that of the city group, but th difference is not significant.

#### **II.** PSYCHOLOGICAL SCORES

Although no attempt was made to match the groups, it is interesting to observe the psychological scores made by each group. Each student did not take a psychological examination. Scores were available for eighty-three of the rural students and eighty-nine of the city students.

As can be seen in Table IX, the mean percentile of the rural group was 46.2. As shown in Table X, the mean percentile of the city group was 46.1. The standard deviation of both groups respectively were rural, 25.95 and city, 27.90.

Using the psychological scores as a basis, it is evident that the groups were fairly equivalent.

# TABLE VII

Interval	freq.	dev.	fd.	fd <sup>2</sup>
96-100	0	. 7	0	0
9195	0	6	0	0
8690	2	5	10	50
8185	2	4	8	32
7680	2	3	6	18
7175	6	່ 2	12	24
6670	5	l	5	5
6165	9	0	0	Ö
5660	6	-1	-6	6
5155	5	-2	-10	20
4650	1	-3	-3	· 9
4145	2	-4	-8	32
3640	0	-5	0	0
3135	0	-6	. <b>O</b>	0
2630	0	-7	0	0
2125	0	-8	0.	0
1620	0	-9	0	0
1115	0	-10	0	0
610	0	- <u>11</u>	0	0
05	0	-12	0	0
	<b>4</b> 0		. Т <del>а</del>	т90

# DISTRIBUTION OF SCHOLARSHIP INDICES OF RURAL STUDENTS AT THE END OF THE THIRD YEAR

Mean-----64.7 Stan. Dev. ----10.90

. KŤ

Section.

### TABLE VIII

Interval	freq.	dev.	fđ.	fd <sup>2</sup>
96-100	0	7	0	0
9195	0	6	0	Ô
8690	0	5	0	0
8185	4	4	16	64
7680	2	3	6	18
7175	3	2	6	12
6670	2	l	2	2
6165	6	0	0	0
5660	8	-1	-8	8
5155	8	-2	-16	32
4650	2	-3	-6	18
4145	0	-4	0	0
3640	0	-5	0	0
3135	0	-6	0	0
2630	Ö	-7	0	0
2125	0	-8	<b>O</b> s	0
1620	Ő	-9	0	0
1115	Ó	-10	0	0
610	Ô	-11		0
05	0	-12	0	0
	<b>3</b> 5		and the second	154

# DISTRIBUTION OF SCHOLARSHIP INDICES OF CITY STUDENTS AT THE END OF THE THIRD YEAR

Mean-----63.0 Stan. Dev. ----10.50

# TABLE IX

Interval	freq.	dev.	fd.	fd2
96-100	3	10	30	300
9195	1	9	9	81
8690	<b>1</b>	. 8	8	64
8185	4	7	28	196
7680	4	6	24	144
7175	3	5	15	75
6670	6	4	24	96
6165	8	3	24	72
5660	3	2	6	12
5155	5	1	5	5
4650	4	0	0	0
4145	5	-1	-5	5
3640	5	-2	-10	20
3135	5	-3	-15	45
2630	4	-4	-16	64
2125	5	-5	-25	125
1620	2	-6	-12	.72
1115	6	-7	-42	294
610	4	-8	-32	256
05	<u>5</u> 83	<u>-</u> 9	<u>-45</u> -31	<u>405</u> 2331
Moon	A C 9		1	

DISTRIBUTION OF PSYCHOLOGICAL SCORES OF RURAL STUDENTS UPON ENTRANCE INTO COLLEGE

Mean-----46.2 Stan. Dev. ----25.95

#### TABLE X

Interval	freq.	dev.	fd.	fd <sup>2</sup>
96-100	5	9	45	405
9195	3	8	24	192
8690	1	. 7	7	49
8185	6	6	36	216
7680	2	5	10	50
7175	3	4	12	48
6670	3	3	9	27
6165	4	ຂ	8	16
5660	5	1	5	5
5155	8	0	0	0
4650	3	-1	-3	3
<b>4145</b>	3	-2	-6	12
3640	6	-3	-18	54
3135	5 <sup>3</sup> (1973)	-4	-20	80
2630	9	-5	-45	225
2125	<b>4</b>	-6	-24	144
1620	<b>4</b>	-7	-28	196
<u>11</u> 15	- <b>- 5</b>		-40	230
610	5	-9	-45	405
05	5	-10	-50	500
	89		-123	2947

# DISTRIBUTION OF PSYCHOLOGICAL SCORES OF CITY STUDENTS UPON ENTRANCE INTO COLLEGE

Mean-----46.1 Stan. Dev. -----27.90

#### TABLE XI

Rural City						
Time Deried Mean Index Mean Ind						
Time Period Mean index Mean ind	ex					
First Term 51.2 53.3						
First Year 55.8 53.7						
Second Year 59.1 60.0						
Third Year 64.7 63.0						
Psychological 46.2 46.1						

### SCHOLARSHIP INDICES AND PSYCHOLOGICAL SCORES OF RURAL AND CITY STUDENTS

# TABLE XII

NUMBER OF STUDENTS SUCCESSFULLY COMPLETING THE FRESHMAN, SOPHOMORE, AND JUNIOR YEARS OF COLLEGE

Year	Rural	City
Freshman	82	88
Sophomore	59 59 59 50 50 50 50 50 50 50 50 50 50 50 50 50	57
Junior	40	35 35 35 35 35 35 35 35 35 35 35 35 35 3

#### CHAPTER IV

MEMBERSHIP IN EXTRA-CURRICULAR ORGANIZATIONS

As a final measure of comparison, information regarding extra-curricular participation was obtained. The records provided data concerning sixty-seven of the rural students and fifty-seven of the city students.

The extra-curricular organizations were classified as follows: (1) social, (2) departmental, (3) honorary, (4) service, (5) other organizations, and (6) class officer positions. Table XIII is a summary of student membership in extra-curricular organizations.

<u>Social organizations</u>. The analysis of the membership of rural students in social organizations revealed that during the three year period, twenty-three students were members of one or more organizations.

The analysis of the membership of city students in social organizations revealed that during the same three year period, twenty-eight students were members of one or more organizations.

The results of this analysis indicate that more city students were members of social organizations than were the rural students. <u>Departmental organizations</u>. The analysis of the membership of rural students in departmental organizations revealed that for the three year period, twenty-six students were members of one or more organizations.

The analysis of the city students showed that thirtyone were members of one or more organizations during the three year period.

In this type of organization, the city group again had more memberships than the rural group.

Both groups had a higher membership in departmental organizations than in social organizations. The total number of memberships in departmental organizations for the rural group was fifty, compared to fifty-four for the city group.

The rural group had sixteen who were members of more than one departmental organization, while the city group had thirteen students that were members of more than one organization.

<u>Honorary organizations</u>. The number of students that were members of honorary organizations was low for both groups. This was probably due to the fact that most students do not become members of honorary organizations until the senior year.

Over the three year period, two rural students were members of honorary organizations while four city students were members. One student was a member of two honorary societies, that particular student being a member of the city group.

Once again the city group had a higher number of memberships than did the rural group.

Service organizations. The number of memberships of the rural group in service organizations was decidedly below that of the city group. Thirteen students of the rural group were members of service organizations, and eighteen city students were members. One of the rural group was a member of more than one organization, and four students of the city group were members of more than one organization. As was found in the three previous comparisons, the city group had more memberships than the rural.

Other organizations. There were a few organizations that could not be classified into one particular group. In this miscellaneous group, there were only fifteen rural members compared with twenty-four city members. Six students of the rural group were members of more than one organization. Nine students of the city group were members of more than one organization.

<u>Class officer positions</u>. The final measurement of membership in school activities was a comparison of class officer positions held by members of each group over the three year period. Three rural students held class officer positions at one time or another during the time covered by the study. Over the same period of time, the city students again held the advantage by having nine members in officer positions.

It is evident from the findings of this analysis, that the city students consistently held more memberships in extra-curricular organizations.

#### TABLE XIII

STUDENT MEMBERSHIP IN EXTRA-CURRICULAR ACTIVITIES

Type organization	No. Rural	No. City
Social	23	28
Departmental	26	31
Honorary	ຂ	4
Service	13	18
Others	15	24
Class officers	<b>B</b>	9

CHAPTER V

# SUMMARY AND CONCLUSIONS

#### I. SUMMARY

<u>Scholastic standing</u>. The findings of this study in regard to scholastic standing revealed that the city students had a higher rating at the end of the first term. The findings at the end of the first year indicated that the rural students had the higher standing. The city students showed a slightly higher standing at the end of the second year, and at the end of the third year the advantage changed back again in favor of the rural students. There was no consistency in the pattern either in favor of the city or rural group. The difference between both groups was very slight in every case.

<u>Psychological scores</u>. The psychological rating of each group was extremely close, there being only one-tenth of one percent difference in the mean percentile. As evidenced by these scores, the groups were fairly equivalent.

Extra-curricular membership. The extra-curricular membership was divided into six types. The organizations were social, departmental, honorary, service, class officers, and other organizations. In each type of organization, the city group showed a greater number of memberships. The consistency in favor of the city students in this respect clearly indicates the superiority of the city group in extra-curricular membership.

Withdrawals. The findings at the end of the first year revealed that more rural students withdrew from school than city students. At the end of the second year, the greater number of withdrawals occurred among members of the city group. The findings at the end of the third year re-

#### II. CONCLUSIONS

In conclusion, the only significant difference between the two groups was in extra-curricular participation. City students held more memberships in extra-curricular organizations than rural students.

There was no difference in total scholastic achievement of rural and city students.

γťΰ

u it